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B K% R (24)) A Ers &

1 R 8 7k BH 6 0:46.25

2 EBExX AT £iR 6 0:47.07

3 TEM Ftk &R 6 0:47.28

4 JtlR EE £iR 6 0:51.04

5 XKiI BEUF FI 6 0:51.85

6 B EBF 7k BA 6 0:56.87

7 {REE WE 7k BA 6 1:15.99

8 HBE B&ZE Eil 6 1:24.14
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3 INESEBRF 500m

B K% R (24)) A Ers &

1 IMNE KH &R 5 0:49.62

2 EW EKR &R 5 0:51.20

3 &4 EH &R 5 0:51.64

4 EF XKE £iR 5 0:52.77

5 iy # £iR 5 1:05.62

- XB B =1 5 DNS
4 INESELF 500m

B E % R (24)) A Ers &

1 I == &R 5 0:49.88

2 W FEE £iR 5 0:57.75

3 ME AB =1 5 0:58.74

4 F7HR 65%E 7k BA 5 1:01.48

5 H RE £iR 5 1:03.79

6 XB #BE &R 5 1:08.74

7 Ik EBEEBR &R 5 1:09.72



5 INEAEHF 500m

B K £ B (E5}) S EFE i
1 RRE EX EJI 4 0:52.00
2 EBRE &FF % 4 1:00.81
3 B —RB EJI 4 1:01.39
4 BT B&E =) 4 1:01.57
5 R & £iR 4 1:02.48
6 HE Hit EJI 4 1:09.31
6 MNEAFELF 500m
B K £ B (E5}) S EFE i
1 Rk Ik 7k BH 4 0:59.32
2 EE EId &R 4 1:13.13
3  FFER Ly 7k B3 4 1:19.23
7 INEBEBF 500m
B K £ B (E5}) S EFE i
1 KT #lsh = I 3 1:04.36
2 thHE Z EJ 3 1:07.79
3 G EBXKE  EN 3 1:09.86
4 /O K— =) 3 1:18.26
5 H1 Z=F = I 3 1:27.78
8 INEISFELF 500m
B K £ B (E5}) S EFE i
1 RE Z=J =) 3 1:06.03
2 W= AN =) 3 1:07.02
3 ZBEA Xh  KH 3 1:07.14
4 HH FE=E 7k BH 3 1:09.10
5 Z=H KF = I 3 1:25.23
- XB BE = 1| 3 DNS
9 INF2FBF 500m
B K £ B (E5}) S EFE i
1 T=E & £iR 2 1:07.51
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3 [RHE MBEAKER KkBH 2 1:30.46
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2 HE E £iR 1 1:37.27
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1 Afe &t EJI 2 0:21.67
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1T & FRE 7k BH 3 0:30.03
2 FE EH 7k BH 1 0:32.49
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B K £ B (E5}) S EFE i
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3 /O EK 7k BH 2 1:17.78
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B K £ B (E5}) S EFE i
1 T=E & £iR 2 0:39.89
2 /O EK 7k BH 2 0:45.92
3 [RHE MBEAKER KkBH 2 0:46.01
4 FAME K EJI 2 0:55.70
5 EEFE —:3 %; 2 0:55.88
6 Afe EJ) 2 0:57.49
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B K £ B (E5}) S EFE i
1 Kk o™ gl 2 0:49.63
2 XB XZE &R 2 0:52.03
3 FaF 5 EJ 2 0:52.21
4  Fu #F0 £iR 2 0:53.58
5 dJtE fnE &R 2 0:53.79
6 mK BEE sk BA 2 0:54.84
23 INE1EBF 300m
B K £ B (E5}) S EFE i
1 = 5 £iR 1 0:50.99
2 Rk 5h[5 7k BH 1 0:51.15
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24 INE1ELF 300m
B K £ B (E5}) S EFE i
1 E =#H 7k BH 1 1:14.62
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B K £ B (E5}) S EFE i
1 1 3 EJI 4 0:58.22
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2 kO K— =) 3 0:47.32
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B K £ B (E5}) S EFE i
1 =H H%FH = I 3 0:48.07
2 PR #E 7k BH 3 1:29.23
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B K £ B (E5}) S EFE i
1 EE thE EJI 6 1:33.93
32 IMNFEEELF 1000m
B K £ B (E5}) S EFE i
1 fEM Ftk &R 6 1:35.34
2 xRl 5 7K B 6 1:37.55
3 HX AT £iR 6 1:37.86
4 JE ¥EE £iR 6 1:51.83
5 XKiI BEUF T 6 1:53.91
6 ¥ BE 7k BH 6 2:06.37
7 Pk WEE 7k BH 6 2:50.22
- HiE EE =1 6 DNS
33 INEBEBEF 1000m
B K £ B (E5}) S EFE i
1 INE XH £iR 5 1:43.62
2 ®F kE £iR 5 1:55.62
3 il # £iR 5 2:22.79
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3 ¥R in%E 7k BA 5 2:10.85
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6 XB #BE &R 5 2:26.90
7 Ik EBEERBR &R 5 2:30.42
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B K% B (24)) A EEs &
1 KM X EIJil 4 1:50.67
2 EBRE & o) 4 1:58.64
3 HRiAE —R Eil 4 2:07.76
4 BT B&E = I 4 2:10.69
5 HE Hth E 4 2:22.01
6 FE & o) 4 2:32.16
36 /MNEAELF 1000m
B K% B (24)) A Ers &
1 Rk IniE 7k BH 4 2:02.91
2 2ZE BN &R 4 2:18.70
3 FH Ly 7k BH 4 2:44.32
37 INEI3EBF 1000m
B E % B (24)) A Ers &
1 FH % 7k BH 3 2:07.54
2 KT #sh = 1| 3 2:11.41
3 tHE = EJI 3 2:11.43
4 & BKXKE EN 3 2:20.51
38 /IMNESELF 1000m
B K% B (24)) A Ers &
1T WRE =N = I 3 2:22.62 CR
2 Bh BE 7k BA 3 2:25.55 CR
3 ZEA X KkH 3 2:26.65
4 ME AN = I 3 2:29.06
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